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Section One
1. d

2. b

3. b

4. d

5. d

6. d

7. c

8. c

9. c

10. c

Section Two

1. Explain Triffin paradox
Under the gold exchange standard, the reserve currency country should run a balance of payments deficit, but this can decrease confidence in the reserve currency and lead to the downfall of the system

2. Explain Agency problems
Managers who are hired as the agents working for shareholders may actually pursue their own interests at the expense of shareholders, causing conflicts of interest.

3. Explain Gresham’s Law
Under the bimetallic standard, the abundant medal was used as money while the scarce metal was driven out of circulation, based on the fact that the ratio of the two metals was officially fixed
4. Why does most interbank currency trading worldwide involve the US dollar?
A significant number of the world’s currencies are pegged to single currencies, particularly the U.S. dollar and the euro, or baskets of currencies such as the SDR.

5. Purchasing Power Parity (PPP)

A theory stating that the exchange rate between currencies of two countries should be equal to the ratio of the countries price levels of a commodity basket.

Section Three

1. a) Yes, a trader can make a profit on Bank C’s quote.

b) Bank A = S($/£) = 1.54
Sell  $ for £
     Bank B = S(€/£) = 1.6

Sell £ for €
     Bank C = S($/€) = 0.97
Sell € for $
The trader can make the free profit $7792


	
	10000
	

	÷
	1.54
	Sell $ for £

	
	64935
	

	×
	1.6
	Sell £ for €

	
	103896
	

	×
	0.97
	Sell € for $

	
	1007792
	


	
	American
	Terms
	European
	Terms

	Bank Quotations
	Bid
	Ask
	Bid
	Ask

	New Zealand dollar
	0.7265
	0.7272
	1.3751
	1.3764

	Singapore dollar
	0.6135
	0.6139
	1.6287
	1.6299

	
	
	
	
	


a) The actions we need to take to speculate in the forward market is to enter a forward contract, in this case the $ is depreciate, so we should sell $ for £.

b) The speculative profit will be $0.09 for 1£

c) Graph American Term and European term

2. Current

€1.5/£

€ = 5.4% interest
Future

€1.6/£

£ = 5.2% interest

Assume No Transaction Cost

a) 1) Borrow €1000000 at interest rate 5.4%

2) Exchange €1000000 to £666667

3) Put £ at interest 5.2%, after one year will be £701334
4) Convert £701334 to €1122134

5) Less the interest borrow rate, €54000

6) The arbitrage profit amount is €68134
b) Take the same strategy as the step in part a, the arbitrage profit is €68134 and exchange it to £42583
